(401BCO21)

ASSIGNMENT-1
B.Com. (General/ Computer Applications) DEGREE EXAMINATION, SEP 2024.

Fourth Semester

CORPORATE ACCOUNTING
MAXIMUM MARKS 30

ANSWER ALL QUESTIONS

Equity shares vs preference shares.

é—agogeg I VS eﬂ@ég{)) JPeTPeD.

. Types of capital.

B0 550 S° Eseen

. Reserves used for the issue of bonus shares.

5500 Trere e88 &HBIPR0D BesBagen.

Issue of debentures as collateral security.

@D T (5°BBS® wEgBe) m EBoDY &b

. Types of Goodwill.

HEDS & seen

Corporate dividend tax.

69065 GIGo& DdY

Kinds of dividend.

&9 o0& S° Sseen.

. Methods of valuing shares.

TPETPOD DOV §e£ ‘&)géoe».



1. (a)

(b)
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ASSIGNMENT-2

B.Com. (General/ Computer Applications) DEGREE EXAMINATION, SEP 2024.

Fourth Semester

CORPORATE ACCOUNTING
MAXIMUM MARKS 30

ANSWER ALL QUESTIONS

Define preference shares and explain different types of preference shares.

BREFD TEPOD) DYFH0H HBAW e3PEY Tered® Sseedy dHBoVos.

Nagapur chemical works Ltd. issued 1,00,000 equity shares of Rs. 100 each at a
premium of Rs. 20 to be paid as follows.

Application : Rs. 20; Allotment : Rs. 50 (with premium) First call : Rs. 20; Final call :
Rs. 30.

1,50,000 applications were received and allotment made for 1,20,000 shares in pro rate
basis remaining shares returned back and excess money adjusted towards allotment.

Ram Lal to whom 4,000 shares were allocated failed to pay allotment and two calls.
Kishan to whom 5,000 shares were alloted failed to pay both the calls after the final call
the company forfeited both the shares and re-issued to Mohith @ 80%- per share fully
paid. Write Journal entries.

THIE BES OWBE 85°.000 © deusd Ko 1,00,000 Se8ced Treredy 8. 20 © (HAAKO
&° o308 D08.

BSPeRy S° 1 8e. 20; Berano: S, 50 (PRG0S DS BoB Dew: 8. 20; Bo8

2e0Y 1 &°. 30 @0 DYowd.

0208 1,50,000 reresd c}SCSgp"K)_ooe)o oo, 1,20,000 Reoredd stﬁ‘éw ‘&)Cqé)é’éé’s BeP0009),
QORID B oo DD D00B. DEYD SO SELPEA PN Bero00NE ‘(od{gww

DA B.
0280 eS K 4,000 eo0D T, @980 BP0 SBATN VeV A5 BYoNBEL).

5,000 wreren $eran0dD 828 Dewd) A5y BYOBBEL. BB DenY HEITH T8 AKH8
TeroD) Y D2 GBR .00 B Dodd drereody @8R @B I8 eHVEID

DEPILIOD) [PP03008.
[°N] [
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2. (a)

Give the Journal entries for the following Sita Ltd. has 4,500 equity shares of Rs. 10
each, Rs. 6 per share paid up. Available Reserve are

(i)  Share premium Rs. 18,000
(11) P and L account (Cr) Rs. 22,500
(i11) General reserve : Rs. 45,000.

It was decided to make the partly paid shares as fully paid and to issue fully paid bonus
shares to the existing shareholders at the ratio of 2 shares for 3 already held.

808 DHT0L BHVEIN Dep DeReo FrAHod. Ve JWHE B8 8,800 Sedged Tere
83°.00 © DD E0d. SI°.E e 35‘;”)0&63). §0Q). o°8 ;sg 1808 Besdogen o).

(1) Te® (DAS Eo°. 18,000
(i) ergdpe ere (Cr) 8. 22,500
(il) A Ses Badag: G 45,000.

FEomr DYoDD Tero I BY0odI Toerer SIENWEd DB (D Do
TPerL B0 TeTOR) JBMT DY0dD F00 Treren a8 Dosnesd %)000D08.

(b) Define Debentures and briefly explain different types of debentures.
&5obgéo DEID0D, DD BB GB0oHEIN 0809 HHB0H0&E.
3. (a) Define Goodwill. What is the need of valuing good? And what factory affect in the
valuation of goodwill?
HOEISD dE5D0H0E MIEISH DHEYHOVD BHFE B2 HEIS dewd Eenesd
(DePBH0 DD SE5eeD I0E?
(b) Following is the balance sheet of Suman Ltd as on 31.3.23
Liabilities Rs. Assets Rs.
8% 2,500 preference shares of 25,000 Good will 5,000
Rs. 10 each
5,000 equity shares of Rs. 10 each 50,000 Fixed assets 90,000
Reserves (Including provision 50,000 Investments (5% Govt. Loan) 10,000
for tax Rs.5,000)
Debentures 25,000 Current Assests 50,000
Creditors 12,500 Preliminary expenses 5,000
Discount on debentures 2,500
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1,62,500 1,62,500

The average profit of the company (after deducting interest on debentures and taxes) is
Rs. 15,500. The market value of the machinery included in fixed assets is Rs. 2,500
more. Expected rate of return is 10%. Calculate the value of goodwill of the company on
the basis of five year's purchase of super profits.

31.3.23 763 0000 OWBE 778 ey Yo HGE

Q)P0 8oe. SISVOV 8o°.
8% 2,500 @ {55 Trered 8700 Deod Kob 25,000 x,596 5,000
5,000. &e8563 Treren 85°.10 © ded 08 20,000 Hormgen 90,000

Besdogen (D 3 Domyen 80 ¥,000 8° 58D ) 50,000 epacien (5% wabeg egp) 10,000

EBOBKY 25,000 5708 esdyen 50,000
20008933°8% €0 12,500 L@"(}S&)g &)6\)()@0 5,000
GBoBY D Gam, 080 2,500

1,62,500 1,62,500

4. (a)

E02d @BE), DNen ergio (Ddy DB EBoNY P & dWDND o) 87.15,500
RS’ Lo &Y oo BwE), 5385 dend 832,500 %5 Sero &lroad
s oad B 10% &S 2e0nd0 B Wossyore G&8% ergre STRoReon
6§b§®£®.

ABC company has a share capital of Rs.2,00,000 divided into 10,000 equity shares of
Rs. 10 each and 1,000, 6% preference shares of Rs.100 each. The company in its general
meeting proposed a dividend of 10% on equity shares. The preference dividend is yet to

be paid. Reserves and surplus are worth Rs.80,000 and other liabilities Rs.25,000. The

realizable value of tangible assets Rs.3,00,000. Ascertain the value of share of company.

ABC £02d 8. 2,00,000 o SoreEsswn o, o aer 810 s9ps, 10,000
8e85ed Treren B08an wrer 87100 Fpx 1,000, 6% egsgy wrereon

DEFROBIIRE.  EonD e VSTDFoS’ He8ed were p 10%  Eddocw
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(D9BoTE. ePEGD T P & IBOL Qos® 3@066&50. BeasBogen, R0y 85°.80,000
208050 388 egpen 825,000 &9, sye P Hrgdy devsd $57.3,00,000 sod

TP DOV EDONTRINN.

(b) Explain different methods of valuation of shares.

TPETOD) Dend s‘e;S) DD Z)géoe)bo 9H580508.

5. (a) Write briefly the provisions of companies act 2013.

E0ud © 60 9003 doEHOD Fggomn 9980H0&.

(b) From the books of Cheran Ltd as on 31.3.23 prepare profit and loss a/c and companies
balance sheet as on that date.

Rs. Rs.
Buildings 6,00,000 Creditors 3,50,000
Furniture 60,000 Surplus (Cr) 20,000
Motor vehicle 60,000 Gross profit 10,00,000
Companies equity shares 4,00,000 Interest recd on 10,000
investments
Stock the trade 4,00,000 Salaries of wages 2,20,000
Debtors 2,80,000 Directors fee 8,000
Cash at bank 1,72,000 Electricity charges 25,000
Advance for building construction 1,30,000 Rent, Taxes and Insurance 10,000
Share capital 10,000 equity shares of 10,00,000 Auditor fee 15,000
Rs. 100 each
Adjustments:

(1) Fixed are depreciated @ 10%
(11) Stock was revalued as Rs. 3,60,000, but not taken into accounts.
(i11) Out of the debtors Rs. 80,000 were due for more than 6 months.

(iv) Provision for tax ignored.
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DEH OEBE 778 YI5*e 5009 30.3.93. K 0PN (808 IHT0E" erdare alc o HOBASW
e BO TS 5 BYPe VL HASTE DAod.

8. 8.
gfdren 6,00,000 awszesen 3,50,000
L ISTY 60,000 2oroe0 gree (Cr) 20,000
DIPeTE0 T 60,000 2re ergsw 10,00,000
EoDd Se8ged 4,00,000 weyacoo p 5930 5& 10,000
D°eIPO
DIEY D% 4,00,000 Beoren, dsaren 2,20,000
AR FSVOV 2,80,000 @888 Yo 8,000
2rg080S® SR e 1,72,000 9co56 o§ev 25,000
P55 doYErdY 1,30,000 eg, 9590, Hdr 10,000
9TEPS0)

ToeT ATV D0 10,00,000 es&eod e 15,000
10,000 &s8ge3
Jeeeen. 80°.100 ©
dend ol
PSle SENI NV

D) RO D VoDBTDE 10% HENES© )BT
(i) DSE 8. 3,60,000 7 SBR denH¥ed 8. qos° B%),S5°8 HBKB0DBE
(i)  2es{OS® 83°.80,000, 6 VOO P M S0 &ISY.

(iv) DY Aoew dYBoDos.

6 (401BCO21)



(402BCO21)
ASSIGNMENT-1

B.Com. (General/ Computer Applications) DEGREE EXAMINATION, SETEMBER, 2024.
Fourth Semester

COST AND MANAGEMENT ACCOUNTING
MAXIMUM MARKS 30
ANSWER ALL QUESTIONS

Give examples for factory overhead expenses and administration overhead expenses.

g 8 £582& PSRN HoBASW 39D 895528 PENOI &TrB0DH0s.

Advantages and disadvantages of FIFO method.

FIFO :;g AS® &HABIeen H08030 dped

Features of job costing.

& SPOR oFeTen DHBoYDY.

Accounting treatment of normal loss and abnormal loss in process accounts.

a0 @305 edes R0 DIBASL e TEEr DPHW D Do HBKB oBaso.

Specify financial statements and state the uses of financial statements.

eﬁgé FRTARESS i)S"b:O T3 EDBITOR ﬁ)S"béo&.

Characteristics of marginal costing.

55789 S sPOR Fsen.
[~] (3]

Causes for high labour turnover.

B8 Bwd wbynb8 Ko seeren



Main functions of purchasing department.

E00R 0 gri(H00 Boo¥), 0PN doen.

(a)

(b)

Write the differences between cost accounting and management accounting.

s‘f&) e93°0e30R D803 oD E 3005 e9F°0e30R Do Ko B Baydw.

From the following information prepare a cost sheet and ascertain profits.

Direct material

Direct labour

Direct expenses

Factory overhead is 50% of prime cost
Sale of scrap

Opening work in progress
Closing work in progress

Office expenses

Interest on secured loans
Provision for taxation
Depreciation on office furniture
Selling and distribution costs
Opening stock of finished goods
Closing stock of finished goods

Profit expected is 20% of sale price

BHOD DB H500S H505 DIBE HOSTEL DD ergfo DB o B8) 09050,

Rs.
12,20,000
11,80,000

5,20,000

8,000
2,80,000
1,00,000

15,60,000
70,000
40,000
72,000

8,20,000
5,00,000
3,00,000

8.
(PsE 3oB80S 12,20,000
(DB, (850 11,80,000
L‘&)éég BN 5,20,000
56 895 & (DEe0DH5000S” 50 FHH
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BOY); e&;ﬁo&s’:ﬁw 8,000
[R80850S° EP0RR 08B0 DI 2,80,000
HR0Y ETHAMOBID) DD 1,00,000
eai)}i)o BN 15,60,000
500 Ko aere P D6 70,000
STPANY DHYS DTYe 40,000
DS 9898 p BSILESE 72,000
IR0 S08A® 003 Sy 8,20,000
BB HHen ([P80850) 5,00,000
HABTPH e (HR0Y) 3,00,000

ergfod BRSO P D0 FHO SBUIIB.

2
(SN
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(402BCO21)
ASSIGNMENT-2

B.Com. (General/ Computer Applications) DEGREE EXAMINATION, SETEMBER, 2024.

1. (a)

(b)

Fourth Semester

COST AND MANAGEMENT ACCOUNTING
MAXIMUM MARKS 30

ANSWER ALL QUESTIONS

Write the advantages of perpetual inventory system.

D) 33300 DFB F0 EDABIMTLO Beyd.

Calculate the earnings of the working Ram and Raghu under straight piece rate and

Taylor’s differential piece rate
e Normal rate per hour is Rs. 120.
e Standard time per unit 60 seconds.
e Differential piece rate:
80% of piece rate when below standard
120% of piece rate at above standard
The workers have produced for 5 days in a day of 8 hours of follows:
Ram : 2000 units

Raghu : 2600 units.
BROH IHEHNO [Jood S°6é§oe) TS0 DOBOIN FD0 WOoHHD0 e pedes HBen HoBosw
808 @), Prreys DO Ben DFBo0 (IS0 BE)055%.

o X085 Dedes Do e, 120.
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o 28 AR K (DHICe SPeH 60 VEXY

o 580D BALIIND Parsyseen:
(D05IEs0 Ky B 1 D0 Bes® 80 TBB0
(D0577E30 KTy D00DXYPE 1 DD BeS® 120 FBHB0

528808 0700 B Eare® 2000 Afordey Ho8A50 S Eared® 5% dO8

Koeen S"apd D€ 00 AdSorrdey) &Ed DTS
2. (a) Explain the objectives, advantages and disadvantages of job order costing.
o) 688 sYoR Bow¥), PgOsren GBI e HIBASL Hapen HBOBIDY.

(b) From the following particulars prepare a job cost sheet showing cost per unit and profit

for the period.

Rs.

Opening stock of material 3,00,000
Purchases of material 16,00,000
Closing stock of material 1,00,000
Direct wages 14,00,000
Machine hours worked 20,000
Machine hour rate 60
Office overheads : 40% of works cost

Selling overheads Rs. 70 per unit

Units produced 52,000
Units sold 50,000

Profit margin is 20% on sales
BRH IHSI0O H008& e R IDOE HATL DD o a5 R DB ergHw
B8),0d0.
8oe.

802 306380565 SN 3,00,000
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206380506 §°HoR e 16,00,000
D0E8a5S SR VS0E 1,00,000
L‘;)éééf')éa"&) 14,00,000
008 HITPeB0 KHoewew 20,000
B K0e0Ed A DY Dasw sPeo 60
eDD 858 W&y 380,y 57y & 40 BBD0
edyse L35rE) a8 0505065 § 70
&H® D S e (cSrRen) 52,000
&8) edyseen (ASmde) 50,000
5 DG edysees® 20 F&HBHL

Explain the objectives of financial statements.

RTINS Pe5D0eT) &BTgen JHBOYSW.

Calculate the trend percentages from the following figures of EFT Ltd. taking 2018-19

of the Base year and interpret them.

Year Sales Rs. Cost of sales Rs. Profit Rs.

2018 -19 15,00,000 12,00,000 3,00,000
2019-20 16,00,000 14,00,000 2,00,000
2020-21 14,00,000 13,00,000 1,00,000
2021 -22 20,00,000 16,00,000 4,00,000
2022 -23 22,00,000 18,00,000 4,00,000

BRD  DID?EIN  espeSone L‘;)‘csg)e_fg BTN DABIPR0D &EYD 965§e)°©°e) e
;Pasgyréc‘ooéo& B8 VoIHWo D000-0F .

QVOJBYBHW ea:)oé?e)o 8oe. eaé’)o&b SESOR) RNV LA RGN

8. &oe.
2018 -19 15,00,000 12,00,000 3,00,000
2019 -20 16,00,000 14,00,000 2,00,000
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()

(b)

2020 - 21 14,00,000 13,00,000 1,00,000
2021 - 22 20,00,000 16,00,000 4,00,000
2022 - 23 22,00,000 18,00,000 4,00,000

Explain the features and assumptions of marginal costing.

257896 5Yof eFeTey H08A5L (FDoASTen dHBoBIDY.

Sales Rs. 50,00,000

Marginal costs 80% of sales

Fixed costs Rs. 8,00,000

Find:

(1) Profit

(11) PV ratio

(ii1) BEP

(iv) Margin of safety and

(v) Sale when profit required is Rs. 15,00,000.

edRsee 85°. 50,00,000
DrGRS vy wdyseos® 80%
?ng DHgosreen 8. 8,00,000

D DIBI0e 300&:

1) gD

(i) PV IRHa

(ii1) BEP

(iv) 8&gs 958 DoBasw

(V) ergsH 8. 15,00,000 5o 00S IRTRV OB &0
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(403BCO21)
ASSIGNMENT-1
B.Com. (General/Computer Applications) DEGREE EXAMINATION, SETEMBER 2024.
Fourth Semester
INCOME TAX

MAXIMUM MARKS 30
ANSWER ALL QUESTIONS.

1. Assessment year and previous year.
(OB D0HBHB0 HoBAW K& dod&To.
2. Profits — in — lieu of salary.
deeD8 220V ergTen.

3. Annual Value.

208 Dend.
4, Cost of acquisition.
700 @0 HgaRo.
5. Sec 80G.
8 80G.
6. Concept of Income and Casual Income.

350300 HOBAW 51’523%65 8T A500 BooE); PN,
7.  Meaning of Income from other sources.

a8 38Y 808 esTeafro eI ©go.
8. Perquisites.

DBoenen.
()
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ASSIGNMENT-2

B.Com. (General/Computer Applications) DEGREE EXAMINATION, SETEMBER 2024.

1. (a)

(b)

IH80H508.

2. (a)

(b)

Fourth Semester
INCOME TAX
MAXIMUM MARKS 30

ANSWER ALL QUESTIONS

How do you determine the residential status of an Individual?

28 D58 Boog), TR (DY DY Do DT:B0B06?

Explain any ten items which are fully exempted from Income- Tax.

emrao DY 1808 IJEBM ITFonodwEd I D8 woedy Kr8y

Explain different types of provident funds in details.

DD BEING D L@v&)aoe’ﬁ_ Do& e KJ"QD RVIJEom DHBoVoG.

Mr. Kumar is working in a limited company in Bangalore. His salary
particulars are Basic pay 24,000 p.m; D.A Rs. 4,000 p.m Bonus 2 months
salary. Employer’s contribution to approved superannuation fund Rs. 30,000
p.-a. The employer gave interest free loan of Rs. 32,000. Professional tax paid
is Rs. 2,400. During the previous year the company presented a gold ring
worth Rs. 46,000 and paid residential telephone bill Rs. 16,000 and
electricity bill Rs. 22,000. Compute Income from salary.

Mr. 555°8 BoHErsd 9A80S° a8 dNBE K0ndS® DO DoSBOTE. @B
ABE); BHO I — DArODHI0 S, 24,000 deO; édo@?sééo P8 8oe.
4,000; £%0 2 Yoo BBo; MHBoY o8I &EFR DEH dDoes DS
O302BITPD VDVEIBID NGB0 Fren¥d Ee. 30,000; 0502353 H00d o8 bé
B w00 8. 32,000; HBIEID D3y DYodns . 2,400; K&

}i)o:béﬁ)ds“@oess E0DD T°BY KIHPBE T[0T 'a&()é 20MP8Y &o80 Dewd



(a)

(b)

8. 46,000 D08 DYodd BOPS Dey E°. 16,000 Ho85n E5E Dey

290D8. 83°. 22,000 P HT°® 00D BB BHO J00d BT ASI0D BE),0H04.

What are the expenses expressly disallowed as deduction in computing the
profits of a business?

D280 009 ergroRy BE)0WD P @BIBIBOBER YYD B D?

Or

Sri Raghu Ram owns two houses in Hyderabad. From the following
particulars compute his income from House property.

House —1I House — 11

Municipal rent value 2,50,000 3,00,000
Rent of similar building 5,50,000 4,20,000
Standard Rent 4,00,000 4,80,000
Actual rental value 3,60,000 4,50,000
Municipal taxes 37,500 44,000
Interest on loan taken to construct the house 1,00,000 28,000

& Sp0ora0y r&orerdS® dodk Kyardnody EOR &onsy. B8R0 dIGES
DJT°© A0 B
)P estasoob0 B8) 08506,

KQ)KPO—I KQ)KPO —1I

H50NIS 63 Dewd 2,50,000 3,00,000
Q
90 BEB FHIY &R 5,50,000 4,20,000
Q
(DeOIRE 9 4,00,000 4,80,000
(]
—o @
H0YIS DdYen 37,500 44,000
Ky DO%e0 5785 SR0Eo%) aoeop G 1,00,000 28,000

(a)

(b)

Define capital gain and explain the method of computing the income under
the head of capital gain.

OGS o DBD0D, IO e %’gé 8o esaraoy B8)0w0
‘&)géoe)éo KJ"SQ 9H80%0&.

The following are the incomes received by Mr. Chakri during the previous
year.



(a)

(b)

(1) Rs. 4,500 Interest on the Government of India Defence Certificate.
(11) Rs. 6,500 Interest on the tax free Indian government Securities.

(1) Rs. 3,600 Tax free debentures of a limited company.

(iv) Rs. 4,000 Interest on tax free debentures of a coal company (unlisted)
(v)  Rs. 9,000 Interest on Bengal Government loan.

(vi) Rs. 4,500 Interest on debentures of a steel company (listed).

(vii) Rs. 4,000 Interest on debentures of a leasing company (unlisted).

(viil) Rs. 5,000 Dividends on equity shares of a limited company.

The bank realised the interest on all these securities for which it charges
2.5% on the amount collected.

Compute the taxable income from interest on securities, if the interest is due
on
31st March and 30t September.

K& ©038)0°08 o Mr. (8 80D esrrairre) D080 eD8.

() o0 (Hebdg S5 98ES e 5& 8. 4,500.

() DRy SIS oS (DebBg WErBEep & S 6,500.

(i) a¥ OBE Eo2d Boo¥), DY WG EBoDEY v, 3,600.

(iv) &Ky owd (unlisted) D) 88 EBoBEYP 3G S°. 4,000.

(v)  BoreS (dahdgo oy $& 8. 9,000.

(vi) a8 RS 5od (listed) EBoDdEYP & 8. 4,500.

(vi)) deoR Ko (unlisted) EBoDdEIP D& S. 4,000.

(viii) &8 OWBE 502D Boo), Se8gd Treredp GOBo Soe. 5,000.

B TE P REPEe 5009 DorBodD DGR 2.5% oo dore
DOEIIB.

HG Do0Bo 31 58 HoBAKW 30 VPOV MO THOND, WETBe© H009 D&
500000 BY0VHOVD DY Ingo B8)0H0s.

Explain in detail about the provisions of Sec 80C.

WE® 80C Bo¥); ATeR0 K8y DD 9H80wH0G.

Briefly describe the income of other persons which are included in assessee’s
total income.

eﬁ?o?o“) BE); dyo estea5008° £V DY vBY Z)Zss‘ge) eSTPOITPON0 (°8)

EIQOr DFEHSD o&.
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ASSIGNMENT-1

B.Com. (General/Computer Applications) DEGREE EXAMINATIONS, SEPTEMER
2024.

Fourth Semester
BUSINESS LAWS

MAXIMUM MARKS 30

ANSWER ALL QUESTIONS

Caveat Emptor.

B35 aoS0ed

Capacity of parties.

B0 egBHen.

Free consent.

5T DR

Sale by non-owner.

ONRITRBE H58 Togo° eSREI0.

Consensus Ad idem.

S“B‘Jé“)&:o o0& Ak

Minor’s agreement.
QDB 2D)0LDN.
Agreement to sale.
SRMERRVEVEIEVY 20 LHN

Digital signature.

&Re0S JoBEDW.
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ASSIGNMENT-2

B.Com. (General/Computer Applications) DEGREE EXAMINATIONS, SEPTEMER
2024.

Fourth Semester
BUSINESS LAWS

MAXIMUM MARKS 30

ANSWER ALL QUESTIONS

(a) What are the essentials of valid contract?
DYEPeN SOy BHFEBHE D063 ?

(b) What are the essentials of valid offer?
DO (DQFEHE SHOVD eHFEB O ID?

(a) Explain Implied conditions and warranties.
(D9 ABBoed 08350 JrdHew ID.

(b) What is the difference between sale and agreement to sale?
@Z)oégéoo, eao“aoégo“)oo X)g)oéboo 200D Z)oc}ﬁé Been DI.

(a) Write about the cyber laws in detail.
228 DD K802 9H5BoBodY.

(b) Describe the Rules regarding minor’s agreements.
DBV VOVO0F0DD 20TV DASIHI°® KJ"QD DDB0NDIDD.

(a) What are the various modes of Discharge of contract?
SPO(8TEY DITDRDHN B0 DD ‘;)gééoobo DN BoWIDW.

(b) What are the remedies available for breach of contract?
S0 50MTR8 DTS S DrafH0e0 ID?

(a) Explain about the Rights of the unpaid seller.
390Ys°D HREVTEID WFSEH0 BLOYDD.

(b) Explain the rules regarding contingent contract.

e3/{0BOE 5°0(erE) AOBIDT°® KI°8) DDB0BIJW.
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ASSIGNMENT-1

B.Com. (General/Computer Applications) DEGREE EXAMINATION, SEPTEMBER
2024.

Fourth Semester
AUDITING
MAXIMUM MARKS 30
ANSWER ALL QUESTIONS

Accounting.

93”0301

Role of auditor.

e3¢ e0d o |B.

Corporate Frauds.

SN0 BT,

Secretarial audit.

EBBA5ES esBeS.
Planning of audit.
e3Ge5 B, (DeTd¥
Internal audit.
@OBEH BIP

Audit working papers.
098G e5 DY HTEe
Audit programmes.

esGeS (D8R
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ASSIGNMENT-2
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2024.
Fourth Semester
AUDITING

MAXIMUM MARKS 30

ANSWER ALL QUESTIONS

Explain the meaning, objectives and importance of audit.

es&e5 BE); eﬁg DD, OF? S0 D803 @vbooa)éééo DHBORDIDND.

What is the role of Auditor in checking corporate frauds?

5259065 DTPFPR0 HIP DoE0oS’ @G ed B JD0e ?
Explain various types of audit.
DD 5570 335050 95 B0H0HN.

What are the steps to be taken at the time of new audit?
BB @G DHAV0S” HEW VD HE5en DS ?

Explain the definition and importance of vouching.

StaoR &oo§b DEGHIDD HoBosw L@oboo@ggém DI BORDIDND.

Explain the qualifications to be appointed as Auditor to a company.

Eo0d 3355 ao0d05 g HD0 dHBoVIDW.

What is the purpose of secretarial audit?

EBBA0S 3E65 (HBIeH0 DAe?

Which companies are mandatory for secretarial audit?
VEEBANS €385 §°00 2 Eonden HNIIB.

What are the five steps to audit?

3365 DOSIEeDE e B DAE3?

What is the relationship between internal control and audit?

©OBHESH DOSI0EEs HIBAI &G ed D¢y WO IDEI?
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Scope of GST.

GST Bw¥), 988.

. GST Rates.

GST 8&}3

. Mixed supply.

BDY VYow.

. Transaction value.
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. GST Refund.
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. GST council.
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. Tax invoice.
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. Time of supply.
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Write the features and advantages of GST.

GST (Se0 Ho8asw 0He DIYW)  BE); OEETO DOBALL (HABICETON

[©D°a%006G.

Write a brief note on CGST, SGST, IGST and UTGST.

CGST, SGST, IGST 508a» UTGST op Sy90m g0 [D°a%008%.

Explain the Australia and Canadian model of GST.
e, RAST 508050 BV GST i) -8y 99BoB0é.

State the services exempted from GST.

GST 5009 QD000 08D WHOB) K38y Bdegydn.

Discuss composition scheme under GST and its benefits.
GST (808 P00 DEE0R HDIBAIN TR (DBI BT OR) ©8)0:908.

Explain the meaning of supply of Goods and services under GST.

GST (808 H))® 900 HoBakw WHO WYow B, G H0OD 9580H06.

What is Input Tax Credit under GST? How does Input Tax Credit
Mechanism work?

GST (808 ‘@oed erEyB&ES edm JW? 30Yers)y B alo@roRo
DO D D 08.
Describe export and import of services.

DN DOBAIN BRONDOBLe cﬁooéb VHO[D0 KJ"@Q DB EDED0E.

Explain different types of GST returns.
DD BES0B S GST Beodyedd K8y ddBowodk.
What are the records to be maintained under GST?

GST (808 DEGEroDdnend B5°8en I?



